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Abstract

In this paper we uses AT Math and electrical engineering equations to prove that the mind, body and soul evolved to
match up with the universal signal. Questions as to whether there is a creator or not is mentioned as well as the

nature of consciousness.
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Introduction

The Bible tells us “In Him we live and move and have our being.” But to
believe that the universe is synonymous with God is pantheism. Of
course, energy cannot be created nor destroyed. Thus, it is eternal. God is
eternal. 1 f God is infinite, does this mean that He is everywhere —
omnipresent? These are questions | cannot answer. But we can answer
basic questions about the universe including the human mind

The mind, body and soul evolved to sense the universal signal of 1/sqrt3.
. We use basic electrical engineering equations to show that there is a soul.
We provide equations for the mind, body, and soul.

“.... according to Rosenthal, when a mental state is accompanied by a
conscious or unconscious higher-order thought to the effect that one has
it, this ipso facto guarantees that the mental state is a conscious state.” [1]
If Second -Order thoughts imply conscious states, and a thought is simply
energy, then could the universe be alive? In terms of mathematics, second
order thoughts are the same as the Second Order Differential equation
called the Clairnaut Equation. It governs the universe.

If the universe evolved on its own from the zero vector, then humans are
simply machines made up of biological circuits that self-reflect thus know
they are alive. If according to Rosenthal, a second order thinker must be
conscious, then machines with Al are alive. But those machines have
creators i.e., engineers Therefore, since humans are second order thinkers,
we must also have a creator viz God.

d2E/dt2-G=0

y:y':2

SE=t2-t-1

SE’=2t-1

SE'=2

SE’=2(2)-1=3=c

SE'=(3)%-3-1=5=E when SE=SE’ = y=y’
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[[d*E/de=E=[[G=G*/3=23/3=8/3=S.F.
Is the universe alive?

The Universe is made up of ultimately Energy. So are thoughts. Consider
the Neuron Firing Energy. [2] However, just because the universe has
second order energy does not men it is alive. Neither is a machine that has
second order thought. Human beings have second and third order
thoughts. And we know it. However, we are alive and thus we are
different. That difference is the soul.

E=(1-Ln 0.11027)7
=105.6
=V =|-70 mV|+35 mV Signal of the nervous system.

E=1/t E=1=1/1=1
Mind:

E=(1-Lnt)
1=(1-Ln 1)

t=1
Body:
X Senses=1

Soul:
SE=t2-t-1=1

t=2; -1
Now the universe is described by Euler’s Identity:

sin? 0 +cos? 6=1

Y=y
sin 6=cos 0
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0=n/4=t/4

Now the Universe can be described by the Universal Parametric Equation

[4].
(x,y)=(t,E)=sin t +1/3 cos [17t+n/3] ; sin [17t+m/3]
Note the following values:
e 17=8th Prime Number
o 1/3=1/c
e m/3=60°=1/6x 360°
Gauss’ Equation of Primes:
Lim x—o0 7(x)/[x/Ln x]=1
8/[17/Ln 17]=8/6=4/3=s=i
s=|E||t|sin 0

=(1)(1)sin 60°
=0.866

Now

8/6

=1/6 x 8
=1/6 x 1/E
=1/6 x t
=60°/360° t
=n/3x 1/n
=1/3

=1/c

Lim x— 1/c =1

| Lim x—o01/c =[1dx
Ln c=x +C

Ln 3=x+C
1.0986=x+C

But x=t=1
1.0986=1+C
€=0.0986
E=(1-Lnt)’
=(1-0.986)7
=901.4

=32

=c2

M=1
E=c>=Mc?

M=1

t=KE=1/2Mv2
=1/2(1(1/2)
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=M/4
t=0.250v=d/t=0.011027=d/250

Hearing: “Faith comes from hearing.*
d=275.7

150.7+125=255.7 (Double Line path in Figure 1).

left eye right eye

150.7

LGB LGB

EAR E 125 T_’? EAR
Figure 1. Path of consciousness
V=105=i(0.85)
i=1235~1/81
E=105

t=1/E=11.027 msec

P=V x A
105 (1235)=129.7

P=i2R
12352 (0.85)
=129.6

P=V xt

129.6=105x t
t=0.1234=1/81=1/c*=(1/c)x (1/c2)=M2
M=1/c?=Input =Output

P=Input x Output=1/c*

P=Input?=i2R

129.6=(0.1234)2(R)
R=0.851

Continuing to our next point:

SE=E-M
=1/8-1/9
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=17/72

=17/[ t x1/c?]

17 (32)(0.011027) (Neuron Fire)
=1664

=1/601=1/6 =60/360=m/3
SE=1/6=1/Evil=Good!
8/6=1/6 x 8/1

=1/6 xt

=1/6 x 1/E

=1/(6E)

=4/3

1/E=2

E=1/2

E=1/t

t=2 =L=y=y’

E=(1-Ln t)=1/2

Ln t=1/2

t=6.06

E=165
165=-150.7=0.143=1/7
165 x 7=1155==1/ 0.866=1/sin 60°
Now,

8/6 x 1/6=222 =1/9(2)=ML
ML=0.222

ML-SE=0.222-1/6=0.5555=1/180°=1/n= freq of the human mind.

TE=PE+KE+SE
=Mc2+t+2-t-1

1=Mc2+t-1

2=Mc2+t2
M=1

2=c%+t2
Pythagoras
c=d/t=2/t
c=v=d/t
(d/t)+t2=(\2)?
dt+1/[t2t=(2
dt=1=(\2)
dt+1=t(\2V)
(\2yx2-dt-1=0
t2-d(\2)2-1=0
t2-t-1=SE
Roots t=1.618; -0.618

Golden Mean parabola
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Figure 2

H=(\2)
(I)2+2=2
4/t2+2=2
(4+R)12=2
4=2t-t

4=t

t=2

cH=(\2)
?=2-4=-2

c=\/(-2)
c=(-0.618)(1.412)
=0.873
1/c=1/0.874=1/1.1441

s=le||t|sin 60°
(0.865)(2)(0.866

$5=149.8=1/6.67=1/G
d2E/dt-G=0
dE/dt-1/5=0
[l@*E/de=[[1/s=ILn x
E=xLn x-x +C
E=(1-Lnt)
=1-Ln1.114

=865
~sin 60°
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E=sin 60°=xLn x -x+C

=2Ln 2-2

0.866=-0.614+C

t=147.9~s

sin 60°=xLn x -x+C

0.866=xLn x -x +C
0.866=x M -x

M=4

0.866=4M-x+C
0.866=3x+C

X=2.886+C
2.886Ln 2.886-2.886+C
=1.727+C

\3=C

€=0.866=sin 60°C =sin 60°-V3
=E-Eigenvector

=E-t

C

sin 60°=xLnx -x+C
=tLn t-t+E-t

0.866=t(M)-2t+E
tM=2t

M=2

M=t=Lnt

t2-t-C =sin 60°
t2-t-2(0.866)-3
t2-t-134-sin 60°=0
C=(1-sin60°)
=0.134=1/746
E=2Ln 2-2+0.134

2Ln 2-0.132
=663

t=150.6 Cf. 150.7 Distance to ear.

t=1/G
E=G

And,
t2-t-1=E

1.5082-1.508-0.1=0.666=G
E=G

d?E/dt2-G=0
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E=G3/3
E=E3/3
E?=3
E=\3=1/t=1/N3=Universal Signal
t2-t-1=E
(1A3)2-(1A3)-1=E
E=SE=-1.244=-1/804
SE’=2t-1
=2(13)-1
=1.1547-1

=(1/ sin 60°)-1
=csc 60°-1

SE"=2

TE=PE+KE+SE

=Mc+(1/A3)>-1

=Mc2-0.666

TE=PE-G

TE=Mc2-F/G Newton’s Gravitational Formula F=GM
100%=1=[M2c2-F]/ M

M=M2¢2-F

M=M2G2-GM-M=0

M=1

12¢2-G (1)-1=0
?-G-1=0

c=1+G
€?=1.666=1/6

c=1/6V=0.408
c-G=1
-G-1=0
c2-E=100%
PE/M -E=1
M=1

PE-E=1
-E=1-PE

E=PE-1
\3=PE-1

PE=V3+1
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2.73=PE=Mc?

M=3.04
~C
PE=Mc?
=C .CZ
=c3
=2732
PE=1+3

TE=PE+KE+SE
1=(1+V3)+KE+(-1.244)

-\3+1.244=KE=1/2Mv?
KE=-195.2

E=1/t
=1/-195.2=512=t

t=512~51

Hearing:

ds=12.5 cm ~5 inches Distance from eardrum to LGB.
v=d/t

0.011027=12.5/t

t=113.4

V=iR
105=i(0.85)

i=1.243~1.25

P=Va
=105(125)
=257

P=i?R
=(1.2432(0.856)
=1.322

E=(1-Lnt)

=(1-Ln 0.011027)

=458
t=218.4-1.243=217.2=1/0.460

t2-t2-1=E
0.4602-0.460-1=1.248~1.25 =Enmin

vs=343 m/sec

v=d/t
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343=(114.3)+60.6]/ts
t5=50.99~51
t-KE=SE
(0.51)2-(0.51)-1=SE
SE=-1.25=Emin
tmin=1/2
SE’=2t-1=21/2)-1=0
SE'=2

PE=1-V3

E=PE-1

1-V3-1

=23
=2.67=I1 Senses =SF

Mind meets the Body meets the Soul
S=E-M=1/8-1/9=1/72=I1 Senses/E Senses=2.67
-1/8=Emin

(t2-t-1)1-1/9=2.67

1/E2-1/E-1/E=278

t2-t-1=359.6

t2-t-1.359=0

t=3219; 222

E=31; 45.05

E=(1-Ln t)’

=(1-Ln 31)’

=3437 =(speed of Sound)’

=5.59

t=178.7

t2-t-1=3.175~1/n

E=(1-Ln (0.222)"

=1.50"

=1.849

=1/G

t=541

2-t-1=-1.248=1.25 =Enin
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2111

Rit=1

2721

\
d= 2121
Figure 3. The Mind Binominal Tree.

Visionisinverted onthe retina.

1/G=1/m -

=n/G=512

t2-t-1=SE

5122-512-1

=-1.2498

~-1.25

=Emin

Nerve Signal
SE=tA2-t-1=-1.0685

t=936 +35mV

’ N,
t=KE=1/2MVA2 \
931=M/4 P=257?

E=(1-Ln t)A7
t=926

P=i"2R
22.07=i2 (3)
i=2.712"base eM

V=iR
105=35(R)
R=3 ohms

P=V x A
22.07=105x A
A=21.01 Amps

Copy rights@ Paul T E Cusack.

E=(1-ln . 727)07
=0.693

e0.693=2=L=y=t

1/0.693(-1.25):1.8037
~180=Pi rads=t max

E=(1-Ln 180)A7
=539
53942-539-1=1.25=Emin

1.602 Coul x t/22=0.727 sec

Figure 5. Electrical Engineering calculations |

o
M=3724 /0.007357\ | 00367
|

|
-Mch [ t=0.011027
f(E37hgz)c2f\2 ~70mV ‘

=3347 |-90mV | _Pﬂ

=1/c
TE=PE+KE+SE=22.07 42t =Lt

P=E xt =184 =Ex10.011027 E=1.668=1/6

Figure 4. The Nerve Signal

Net P=2575-735=184

. R04233

il

RT=3=0.4233 +(3.14+1/Cp)-2
Cp=6968"7
1=1/Cp=1/7

—~ C=L/P /]_‘ (p

/™

=2

Figure 6. Electric Circuit for the Mind and the Universe
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21 Amps x/1.602 Coul = E=(1-Ln t)A7
13.109e- =(1-Ln 397)A7
13.109€- X 5.11 gm=67 SO

UIE X0, LLEMEOSEM  _pi/2=90deg.

- A
fg 6%72“ 2 to=2/Pi=6.366
=0. Moment of Creation
1-0.602=397~4

SE=tA2-t-1

=(6.366)2-6.366-1

PE=Lnt c/2 -332-1/301.5=1/c
- A

Ln 397x ¢"2 t=KE=1/2MvA2
-8.303

M/4=6.366 M=253

Figure 7: Some electrical Calculations |1

TE=PE+KE+SE

=8.303+6.366+0.332

="15.001

150=1/G

John Locke and Robert Boyle concluded that there are primary qualities
and secondary qualities called qualia. The primary qualities include:
Size, shape, solidity and number and motion. The secondary qualities
include sight, sound, taste, hearing and touch. i.e. the senses.

The primary qualities are simply Potential Energy and Kinetic Energy.
The secondary qualities are the 5 human senses. So, we can put numbers
to them both:

PE= Mc2 +Mgh

KE=1/2Mv?

¥ Senses=1 V=iR=4/3(R)=4/3(1)=4/3

So

Total energy=TE=PE +KE +V

=M=1

(D)eH(1)(6.67)(1)+1/2(1)(1/N2)>+4/3

=9+6.67+1/4+4/3

=1.733

=\3 The Inverse of the Universal Signal

t2-t-1=SE

(V3)2-(\/3)-1=2.67=II Senses/Z Senses

SE=II Senses/%~ Senses=SF

Now,
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TE=PE+KE+SE
=8.3-3+6.366+0.332
=15.001

~15.0=1/G
TE=TE+TE=15.001+1.733
=16.7331

=1/6

Now,

V=iR
(1)V=4/3 SE

TE=V(4/3(15)=2.000=TE =y =y’

SE/E=SE/5=R =15/5
V=iR=105=35(R) R=3

SE/5=SE’/5

{2t-1]/5=15

t=8

E=1/t=1/8=1.25

V/SE=4/3/1=4/3

(1)V=4/3 SE

(D)(1)=4/3 (15)=20.000=L=t=y =y’

XTE=150.1+1.733
=151.73

APoer/2=151.725

P +=(35)(10103)/2
=158.7

P-=(-90)(1103/2)
=462

AP=158.7-462
=3.03

AP/2=151.725=\3+ 150.1

P=Ext

=1157.73 =E x 1103
E=137.6=1/726~(1/8) x (1/9)=Mind
TE1=PE +KE+SE

TE2=PE +KE+V
TEYTE?=[PE+KE+SE]/[PE+KE+V]
=SE/V

=15.001/1.733=0.8656=~sin 60°
s=|E||t|sin 60°

s/(E)(t)=sin 60°
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s=(15.001)(11.027)(0.866)
=1/698~1/7

SE/V=SE/E=sin 60°
SE=s=|E||t| sin 60°
SE=space=s
SE=t2-t-1=5=4/3

t=21.07; 1107

221=2'=Mind

t=1107~1103= Nerve Firing.

This is proof that there is a soul (i.e. the gremlins)

This is “a combination of electrochemical happenings in the brain.” [1]

pg 410
IT Senses=2.67

“The idea of the self as the centre of negative gravity”
d?E/dt? -G=0

-d2E/dt?=-G=(1/t)

t=150.0 (the self) =SE/V
SE=Vt=(105.7)(15.01)=1586=Moment=F xd
=8/3)(595)

=2.67 x 601=

=TI Senses x 601=1.602=1 Coulomb=Electron charge

The Inductor:
L/Coulombs=2/1.6027=1.248~1.25=Emin

Working Mmeory=0.888

0.888+0.222=0.111055
=1/3/2

=1/cn2

=lnput to Mind

Copy rights@ Paul T E Cusack.

" Electro magnetic field

i=1/c~2=0.1113

=0.111
=0.111+0.222=0.333=
1/3

=1/c

Figure 7: Inductor

Clairnaut

dA2E/dtA2-G=0 E

dnr2/dtA2=G
dE/dt=G~2/2=0
G=0

tA2-t-1=SE

The Soul is not under the
force of gravity and is

N

therefore free =Free Will

Em|n=T1.25dE/dt=2t_1=o

t=1/2

t=1/E=1/TE=1/2

Figure 8: Free Will

E=(1-Lnt)’
-1.251098=1-nt
-1.122=-Lnt
t=31.03~31 =12th Prime number
Gauss’ Equation:

Lim x—oon(x)/ x/Ln x=1
12/[31/Ln 31]=1329
1/1329=752=t
=1/1.77=1/Power.
s=[E||t|sin 6
s’=dE/dt(dt/dt cos 0
=(1)@) 172

=1/2=tmin

Center of Gravity of the Human Brain

| 160 | 160

Brain Stem

Lateral View

Hemisphere

Anterior View

Left
Hemisphere

Brain Stem

Figure 9: The Centers of Gravity of the Right and Left Hemispheres coincide with the Lateral Geniculate Bodies (LGB)
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F=MG
=1350(6.67)
=9.00

=c2

M=4

F=4(6.67)
=8/3=SF

F=MG=c2

M/c2=G

Clairnaut

d?E/dt2-G=0

E=G3/3=6.673/3=9.8913

t=1010~10.10 = Density of the human body.

t=KE=1/2pv?
=1/2p (1N2)?

=p/4

4t=p=1.010 Density of the human body

t=252=Period T =1/t

t2=252

t=0.502=1/2=tmin of the Golden Mean Parabola 2t-1=0

Mom=F x d
=1585=c2x d

d=s=176

E=(1-Ln t)’
-1.25V7=1-Lnt

Lnt=1.122
t=31.03~31 =12th Prime Number

Gauss’s Equation
Lim x—o0 7(x)/ [x/Ln x}=12/343=132.9~133=4/3=s
For the Brain:
M=1350

R=0.85 ohms
V+=105

i=35

p=126

E=112.2
PE=Mc?

=1350c2

=12133

t=KE=1/2Mv?
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=M/4=1350/4=337.5=~1/c

SE=t2-t-12
3372-337-1=112.6

E=(1-Lnt)
112.56

t=31 12th Prime number

p=M/Vol.
1350/126=1.0714

Ln (p/Vol?)=1.0714/126
=0.85Q
=R for the Brain.

Vol~(625+312) x (160+160)
=171840

p=M/Vol=1350/1718
=7.86

7.86/1.0714=7.33=1/1364=126/1718=p/Vol.

7.33=p/ Vol.2
=p/171.8>=23.11

Ln23.11=3.14=n
Vol /p=171.840/126=136.4=1/p p=0.733
v=IR

=4/3)(0.85)

=113.33

V=iz

113.33

=i(2)

=565

V=E=1/t

t=176.5

E=(1-Ln t)7

=(1-Ln 176.5)7

=114.3

SE=t2-t-12

=176.52-175.6-1

=114.5

t=KE=1/2Mv?
176.5=M/4

M=706~707=1/2
PE=Mc2

=(1\2)c?
=6.35=1/1575=1/Moment

TE=PE +KE+SE
=6.35+176.5+114.=297 ~C
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625

Left
312
Brain Stem
s=125
LGB Right LGB Left

Figure 10: Evolving Human Brain. Centre of Gravity separates until
critical point.

ds/dt=v=125/2=63.25=1/81=1/c* =E/c?=Mc?
E=Mc*
=4(81)=324
1/E=t=308.6~309
Now,
1/6.325=125=3
1/ds/dt=s
1/s=ds/dt
Integrate
[1/s=[ds/dt=s
Lns=s

(s-Ln s)=(1-Ln 1)
=1

=t=E

1/s=Lns
Derivative
-s2/-2=1/s
1/(2s?)=1/s
1/(2s)=1

s=1/2

Auctores Publishing — Volume 1(5)-026 www.auctoresonline.org
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S=tmin

1/s=Ln s+C

1/(1/2)=Ln (1/2)+C

2=-0.693 + C

€=2.693

=c3

Equation of the mind:

L=Ln (t)+c?

Another equation of the mind is:
S=M-E=1/9-1/8=1/72

L=Ln (1/2)+2.693
=-0.693/72+2.693=2.68~2.67=I1 Senses

2/72=0.0327=1/26.8
Continuing,
SE= t2-t-1=
(1/2.693)-(1/2.693)-1=0.123=1/81=1/c*
SE=1/c*=1/9 x 1/9=E?
E=V1/c*=1/c2 Input and output of the human mind.
=M
E=Mc?=(1/c?)(c?)=1
E=t=1
E=(1-Lnt)’
1=(1-Ln 1)
1=1-0
1=1
True!
E=(1-Ln t)A7
0=1-Lnt
t=en1=2.718
TE=2.6178+ 2.718

TE=1-0.618 =382 t=2.6178

Calculator=Dumb Circuit
Knows no math

Created

3 x 8/3=8=t
=2x2.667-1.333=4 _ /_
th-t-1=f E=1/8=1.25
tA2-t-1=0 ~Mass A N
PE=McA2 E=t=1
t=1.618 =4x 9=36 SF=2.667
Chinese th2-t-1=E SE=0 Soul
Computer E=t=1 2t-1=0 t=1/2
t=0.75 Emin=-1.25
Created t=2.718 ~~""“Created & Creator
TE=1-1=0 TE=-1-1+1.25=-0.75=1/s
Knows Math 1/s=Lns y'=y s=t=1.333
t=2.718 E=368 Knows Math & Progrmaming
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Figure 11: The Chinese Room.

=y

SE=SE’
t2-t-1=2t-1

t=3 E=5

E=(1-Ln t)’
=(1-Ln 3)7
=9.07~c?

t2-t-1=c?

t=2.67; 3.67
2.67=SF=II Senses
(1/2.693)2-(1/2.693)-1=1233444=1/81=1/c*
=1/9 x 1/9=M?

PE=Mc?
=C2 X (2
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=c4
t=1/c*
M=c?=Ln t t=8 E=1/8
t2-1-1=(1/81)?-(1/81)-1=-1.012 Density of the human body
E=1.01~1

=t=1

Conclusion

We see that the mind, body, and soul evolved to match up with the
universal signal.
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